
x2 + y2 � 1

A Hx − uL2 + C Hy − vL2 � 1

x2 + y2 � 1

A H−u + xL2 + C H−v + yL2 � 1

Solve@x2 + y2 � 1, yD
99y → −

è!!!!!!!!!!!!!!
1 − x2 =, 9y →

è!!!!!!!!!!!!!!
1 − x2 ==

Solve@A Hx − uL2 + C Hy − vL2 � 1, yD
99y →

C v −
è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
C − A C u2 + 2 A C u x − A C x2

�����������������������������������������������������������������������������������
C

=, 9y →
C v +

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
C − A C u2 + 2 A C u x − A C x2

�����������������������������������������������������������������������������������
C

==

Path y → −
è!!!!!!!!!!!!!
1 − x2

A Hx − uL2 + C Hy − vL2 � 1 ê. y → −
è!!!!!!!!!!!!!!
1 − x2

A H−u + xL2 + C I−v −
è!!!!!!!!!!!!!!
1 − x2 M2 � 1

ExpandAllAA H−u + xL2 + C I−v −
è!!!!!!!!!!!!!!
1 − x2 M2 � 1E

C + A u2 + C v2 − 2 A u x + A x2 − C x2 + 2 C v
è!!!!!!!!!!!!!!
1 − x2 � 1

C + A u2 + C v2 − 2 A u x + A x2 − C x2 + 2 C v
è!!!!!!!!!!!!!!
1 − x2 − 1 � 0

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 + 2 C v
è!!!!!!!!!!!!!!
1 − x2 � 0

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 � −2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 � −2 C v
è!!!!!!!!!!!!!!
1 − x2

Collect@−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2, xD � −2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + HA − CL x2 � −2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + HA − CL x2 � −2 C v
è!!!!!!!!!!!!!!
1 − x2 êê.

8A u → R, C v → Q, HA − CL → M, −1 + C + A u2 + C v2 → N<
N − 2 R x + M x2 � −2 Q

è!!!!!!!!!!!!!!
1 − x2

ExpandA 1
����������
2 Q

 HN − 2 R x + M x2LE � −
è!!!!!!!!!!!!!!
1 − x2

N
���������
2 Q

−
R x
���������
Q

+
M x2
�����������
2 Q

� −
è!!!!!!!!!!!!!!
1 − x2
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Path y →
è!!!!!!!!!!!!!
1 − x2

A Hx − uL2 + C Hy − vL2 � 1 ê. y →
è!!!!!!!!!!!!!!
1 − x2

A H−u + xL2 + C I−v +
è!!!!!!!!!!!!!!
1 − x2 M2 � 1

ExpandAllAA H−u + xL2 + C I−v +
è!!!!!!!!!!!!!!
1 − x2 M2 � 1E

C + A u2 + C v2 − 2 A u x + A x2 − C x2 − 2 C v
è!!!!!!!!!!!!!!
1 − x2 � 1

C + A u2 + C v2 − 2 A u x + A x2 − C x2 − 2 C v
è!!!!!!!!!!!!!!
1 − x2 − 1 � 0

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 − 2 C v
è!!!!!!!!!!!!!!
1 − x2 � 0

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 == 2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2 � 2 C v
è!!!!!!!!!!!!!!
1 − x2

Collect@−1 + C + A u2 + C v2 − 2 A u x + A x2 − C x2, xD == 2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + HA − CL x2 � 2 C v
è!!!!!!!!!!!!!!
1 − x2

−1 + C + A u2 + C v2 − 2 A u x + HA − CL x2 � 2 C v
è!!!!!!!!!!!!!!
1 − x2 êê.

8A u → R, C v → Q, HA − CL → M, −1 + C + A u2 + C v2 → N<
N − 2 R x + M x2 � 2 Q

è!!!!!!!!!!!!!!
1 − x2

ExpandA 1
���������
2 Q

 HN − 2 R x + M x2LE �
è!!!!!!!!!!!!!!
1 − x2

N
���������
2 Q

−
R x
���������
Q

+
M x2
�����������
2 Q

�
è!!!!!!!!!!!!!!
1 − x2

Part II

N
���������
2 Q

−
R x
���������
Q

+
M x2

�����������
2 Q

� −
è!!!!!!!!!!!!!!
1 − x2

N
���������
2 Q

−
R x
���������
Q

+
M x2
�����������
2 Q

� −
è!!!!!!!!!!!!!!
1 − x2

N
���������
2 Q

−
R x
���������
Q

+
M x2

�����������
2 Q

�
è!!!!!!!!!!!!!!
1 − x2

8R −> A u,

Q −> C v,

M −> HA − CL,
N −> −1 + C + A u2 + C v2<
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ExpandAllAik
jjjj N
���������
2 Q

−
R x
���������
Q

+
M x2

�����������
2 Q

y
{
zzzz
2

� 1 − x2E
N2

�����������
4 Q2

−
N R x
�������������
Q2

+
M N x2
���������������
2 Q2

+
R2 x2
�������������
Q2

−
M R x3
���������������
Q2

+
M2 x4
�������������
4 Q2

� 1 − x2

CollectA N2

�����������
4 Q2

−
N R x
�������������
Q2

+
M N x2

���������������
2 Q2

+
R2 x2

�������������
Q2

−
M R x3

���������������
Q2

+
M2 x4

�������������
4 Q2

− H1 − x2L, xE � 0

−1 +
N2

�����������
4 Q2

−
N R x
�������������
Q2

+
ikjj1 +

M N
�����������
2 Q2

+
R2
�������
Q2

y{zz x2 −
M R x3
���������������
Q2

+
M2 x4
�������������
4 Q2

� 0

CollectAExpandA 4 Q2

�����������
M2

 
i
k
jjjj−1 +

N2

�����������
4 Q2

−
N R x
�������������
Q2

+
i
k
jjjj1 +

M N
�����������
2 Q2

+
R2

�������
Q2

y
{
zzzz x2 − M R x3

���������������
Q2

+
M2 x4

�������������
4 Q2

y
{
zzzzE, xE � 0

N2
�������
M2

−
4 Q2
�����������
M2

−
4 N R x
�����������������
M2

+
ikjj
2 N
���������
M

+
4 Q2
�����������
M2

+
4 R2
�����������
M2

y{zz x2 −
4 R x3
���������������

M
+ x4 � 0

N2

�������
M2

−
4 Q2

�����������
M2

−
4 N R x
�����������������
M2

+
i
k
jjjj 2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

y
{
zzzz x2 − 4 R x3

���������������
M

+ x4 � 0 êê.
9 N2

�������
M2

−
4 Q2

�����������
M2

→ d, −
4 N R
��������������
M2

→ c,
i
k
jjjj 2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

y
{
zzzz → b, −

4 R
����������
M

→ a=
d + c x + b x2 + a x3 + x4 � 0

Quartic equation

9a −> −
4 R
����������
M

,

b −>
2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

,

c −> −
4 N R
��������������
M2

,

d −>
N2

�������
M2

−
4 Q2

�����������
M2

=
ExpandAllAd + c x + b x2 + a x3 + x4 � 0 ê. x −> y −

a
����
4
E

−
3 a4
�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d +
a3 y
�����������
8

−
a b y
�������������
2

+ c y −
3 a2 y2
�����������������

8
+ b y2 + y4 � 0

CollectA− 3 a4

�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d +
a3 y
�����������
8

−
a b y
�������������
2

+ c y −
3 a2 y2

�����������������
8

+ b y2 + y4, yE � 0

−
3 a4
�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d +
ikjj
a3
�������
8

−
a b
���������
2

+ c
y{zz y +

ikjj−
3 a2
�����������
8

+ b
y{zz y2 + y4 � 0

−
3 a4

�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d +
i
k
jjjj a3

�������
8

−
a b
���������
2

+ c
y
{
zzzz y +

i
k
jjjj− 3 a2

�����������
8

+ b
y
{
zzzz y2 + y4 � 0 êê.

9ik
jjjj− 3 a2

�����������
8

+ b
y
{
zzzz → e,

i
k
jjjj a3

�������
8

−
a b
���������
2

+ c
y
{
zzzz → f, −

3 a4

�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d → g=

g + f y + e y2 + y4 � 0
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Quartic - part II

FullSimplifyAik
jjjj− 3 a2

�����������
8

+ b
y
{
zzzz ê. 9a −> −

4 R
����������
M

, b −>
2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

=E
2 M N + 4 Q2 − 2 R2
������������������������������������������

M2

FullSimplifyAik
jjjj a3

�������
8

−
a b
���������
2

+ c
y
{
zzzz ê. 9a −> −

4 R
����������
M

, b −>
2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

, c −> −
4 N R
��������������
M2

=E
8 Q2 R
���������������
M3

FullSimplifyA− 3 a4

�����������
256

+
a2 b
�����������
16

−
a c
���������
4

+ d ê.
9a −> −

4 R
����������
M

, b −>
2 N
���������
M

+
4 Q2

�����������
M2

+
4 R2

�����������
M2

, c −> −
4 N R
��������������
M2

, d −>
N2

�������
M2

−
4 Q2

�����������
M2

=E
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4
���������������������������������������������������������������������������������������

M4

g + f y + e y2 + y4 � 0

g + f y + e y2 + y4 � 0

Cubic equation

9e −>
2 M N + 4 Q2 − 2 R2

������������������������������������������
M2

,

f −>
8 Q2 R
���������������
M3

,

g −>
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4

����������������������������������������������������������������������������������������
M4

=
x −> y −

a
����
4

êê. 9a −> −
4 R
����������
M

=
x →

R
����
M

+ y

h6 + 2 e h4 + He2 − 4 gL h2 − f2 � 0 ê. 82 e → a2, He2 − 4 gL → a1, −f2 → a0<
h6 + a0 + h

2 a1 + h
4 a2 � 0

h6 + a0 + h
2 a1 + h

4 a2 � 0 ê. 8h2 → s, h4 → s2, h6 → s3<
s3 + a0 + s a1 + s

2 a2 � 0

8a0 −> −f2,

a1 −> e2 − 4 g,

a2 −> 2 e<
Cubic equation should be solved by using one of techniques available...
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Original roots

9R −> A u,

Q −> C v,

M −> HA − CL,
N −> −1 + C + A u2 + C v2,

e −>
2 M N + 4 Q2 − 2 R2

������������������������������������������
M2

,

f −>
8 Q2 R
���������������
M3

,

g −>
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4

����������������������������������������������������������������������������������������
M4

=;
x −> y −

a
����
4

ê. 9a −> −
4 R
���������
M

=
x →

R
����
M

+ y

h2 → s

h2 → s

Solve@h2 � s, hD
99h → −

è!!!!
s =, 9h →

è!!!!
s ==

W1 →
è!!!!!!!!!!!!!!!!
s − 4 j ê. j −>

e + h2 −
f
����
h

�������������������������
2

W1 → $%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%−2 Je −
f
����
h

+ h2N + s

W2 → $%%%%%%%%%%%%%%%%%%%s −
4 g
���������
j

ê. j −>
e + h2 −

f
����
h

�������������������������
2

W2 → $%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%−
8 g

�������������������������
e −

f
����
h
+ h2

+ s

x1 −>

H−h+W1L����������������
2

+ R
���������������������������

M

x2 −>

H−h−W1L����������������
2

+ R
���������������������������

M

x3 −>

Hh+W2L��������������
2

+ R
�������������������������

M

x4 −>

Hh−W2L��������������
2

+ R
�������������������������

M
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Special cases

ü |M|>1

g + f y + e y2 + y4 � 0

e −>
2 M N + 4 Q2 − 2 R2

������������������������������������������
M2

,

f −>
8 Q2 R
���������������
M3

,

g −>
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4

����������������������������������������������������������������������������������������
M4

g + f y + e y2 + y4 � 0 ê.
9e −>

2 M N + 4 Q2 − 2 R2

������������������������������������������
M2

, f −>
8 Q2 R
���������������
M3

, g −>
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4

����������������������������������������������������������������������������������������
M4

, y →
t
�����
M
=

Out[8]=
M2 HN2 − 4 Q2L − 2 M N R2 + 4 Q2 R2 + R4
���������������������������������������������������������������������������������������

M4
+
8 Q2 R t
�������������������

M4
+

H2 M N + 4 Q2 − 2 R2L t2
������������������������������������������������������

M4
+
t4
�������
M4

� 0

In[9]:= x →
R
�����
M

+ y ê. y →
t
�����
M

Out[9]= x →
R
����
M

+
t
����
M

ü uä0 and vä0

x2 + y2 � 1

A Hx − uL2 + C Hy − vL2 � 1 ê. 8u → 0, v → 0<
x2 + y2 � 1

A x2 + C y2 � 1

Solve@ExpandAll@A x2 + C y2 � 1 ê. y2 → 1 − x2D, xD
99x → −

è!!!!!!!!!!!!
1 − C

������������������è!!!!!!!!!!!!
A − C

=, 9x →

è!!!!!!!!!!!!
1 − C

������������������è!!!!!!!!!!!!
A − C

==

ü uä0

x2 + y2 � 1

A Hx − uL2 + C Hy − vL2 � 1 ê. u → 0

x2 + y2 � 1

A x2 + C H−v + yL2 � 1

Solve@x2 + y2 � 1, yD
99y → −

è!!!!!!!!!!!!!!
1 − x2 =, 9y →

è!!!!!!!!!!!!!!
1 − x2 ==
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ExpandAllA−1 + A x2 + C H−v + yL2 � 0 ê. y → −
è!!!!!!!!!!!!!!
1 − x2 E

−1 + C + C v2 + A x2 − C x2 + 2 C v
è!!!!!!!!!!!!!!
1 − x2 � 0

−1 + C + C v2 + HA − CL x2 + 2 C vè!!!!!!!!!!!!!!
1 − x2 � 0 êê. 8C v → Q, HA − CL → M, −1 + C + C v2 → N<

N + M x2 + 2 Q
è!!!!!!!!!!!!!!
1 − x2 � 0

ExpandAllAHN + M x2L2 � I−2 Qè!!!!!!!!!!!!!!
1 − x2 M2E

N2 + 2 M N x2 + M2 x4 � 4 Q2 − 4 Q2 x2

Collect@N2 + 2 M N x2 + M2 x4 − 4 Q2 + 4 Q2 x2, xD � 0

N2 − 4 Q2 + H2 M N + 4 Q2L x2 + M2 x4 � 0

N2 − 4 Q2 + H2 M N + 4 Q2L x2 + M2 x4 � 0 êê.8N2 − 4 Q2 → c, H2 M N + 4 Q2L → b, M2 → a, x2 → s, x4 → s2<
c + b s + a s2 � 0

Solve@c + b s + a s2 � 0, sD
99s →

−b −
è!!!!!!!!!!!!!!!!!!!!!!
b2 − 4 a c

���������������������������������������
2 a

=, 9s →
−b +

è!!!!!!!!!!!!!!!!!!!!!!
b2 − 4 a c

���������������������������������������
2 a

==

99s →
−b −

è!!!!!!!!!!!!!!!!!!!!!!
b2 − 4 a c

����������������������������������������
2 a

=, 9s →
−b +

è!!!!!!!!!!!!!!!!!!!!!!
b2 − 4 a c

����������������������������������������
2 a

== ê. b2 − 4 a c → D1

99s →
−b −

è!!!!!!
D1

�����������������������
2 a

=, 9s →
−b +

è!!!!!!
D1

�����������������������
2 a

==
FullSimplify@D1 −> ExpandAll@b2 − 4 a c ê. 8a −> M2, b −> H2 M N + 4 Q2L, c −> N2 − 4 Q2<DD
D1 → 16 Q2 HM HM + NL + Q2L

PowerExpandA99s →
−b −

è!!!!!!
D1

������������������������
2 a

=, 9s →
−b +

è!!!!!!
D1

������������������������
2 a

== ê.
8D1 → 16 Q2 HM HM + NL + Q2L, a −> M2, b −> H2 M N + 4 Q2L<E

99s →
−2 M N − 4 Q2 − 4 Q

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
M HM + NL + Q2

��������������������������������������������������������������������������������
2 M2

=, 9s →
−2 M N − 4 Q2 + 4 Q

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
M HM + NL + Q2

��������������������������������������������������������������������������������
2 M2

==

99s →
−2 M N − 4 Q2 − 4 Q

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
M HM + NL + Q2

���������������������������������������������������������������������������������
2 M2

=,
9s →

−2 M N − 4 Q2 + 4 Q
è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
M HM + NL + Q2

���������������������������������������������������������������������������������
2 M2

== ê. M HM + NL + Q2 → D

99s →
−2 M N − 4

è!!!!
D Q − 4 Q2

����������������������������������������������������
2 M2

=, 9s →
−2 M N + 4

è!!!!
D Q − 4 Q2

����������������������������������������������������
2 M2

==

PowerExpandAx →
è!!!!
s ê. 99s →

−2 M N − 4
è!!!!
D Q − 4 Q2

�����������������������������������������������������
2 M2

=, 9s →
−2 M N + 4

è!!!!
D Q − 4 Q2

�����������������������������������������������������
2 M2

==E

9x →

"##################################################
−2 M N − 4

è!!!!
D Q − 4 Q2

����������������������������������������������������������è!!!!
2 M

, x →

"##################################################
−2 M N + 4

è!!!!
D Q − 4 Q2

����������������������������������������������������������è!!!!
2 M

=
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8Q −> C v,

M −> HA − CL,
N −> −1 + C + C v2,

D −> M HM + NL + Q2<

ü vä0

x2 + y2 � 1

A Hx − uL2 + C Hy − vL2 � 1 ê. 8v → 0<
x2 + y2 � 1

A H−u + xL2 + C y2 � 1

Solve@A H−u + xL2 + C y2 � 1 ê. y2 → 1 − x2, xD
99x →

A u −
è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
A − C − A C + C2 + A C u2

�����������������������������������������������������������������������
A − C

=, 9x →
A u +

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
A − C − A C + C2 + A C u2

�����������������������������������������������������������������������
A − C

==

ü AäC

N
���������
2 Q

−
R x
���������
Q

+
M x2

�����������
2 Q

�
è!!!!!!!!!!!!!!
1 − x2

8R −> A u,

Q −> C v,

M −> HA − CL,
N −> −1 + C + A u2 + C v2<
M −> HA − CL ê. A → C

M → 0

N
���������
2 Q

−
R x
���������
Q

+
M x2

�����������
2 Q

�
è!!!!!!!!!!!!!!
1 − x2 ê. M → 0

N
���������
2 Q

−
R x
���������
Q

�
è!!!!!!!!!!!!!!
1 − x2

ExpandAllAikjj
N

���������
2 Q

−
R x
���������
Q

y{zz
2

� 1 − x2E
N2

�����������
4 Q2

−
N R x
�������������
Q2

+
R2 x2
�������������
Q2

� 1 − x2

SolveA N2

�����������
4 Q2

−
N R x
�������������
Q2

+
R2 x2

�������������
Q2

� 1 − x2, xE

99x →
N R −

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
−N2 Q2 + 4 Q4 + 4 Q2 R2

���������������������������������������������������������������������
2 HQ2 + R2L =, 9x →

N R +
è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
−N2 Q2 + 4 Q4 + 4 Q2 R2

���������������������������������������������������������������������
2 HQ2 + R2L ==
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99x →
N R −

è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!
−N2 Q2 + 4 Q4 + 4 Q2 R2

����������������������������������������������������������������������
2 HQ2 + R2L =, 9x →

N R +
è!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!

−N2 Q2 + 4 Q4 + 4 Q2 R2
����������������������������������������������������������������������

2 HQ2 + R2L == êê.
9−N2 Q2 + 4 Q4 + 4 Q2 R2 → D,

1
���������������������������
2 HQ2 + R2L →

1
����
F
=

99x →
−
è!!!!
D + N R

�������������������������
F

=, 9x →

è!!!!
D + N R

����������������������
F

==

ü AäC and uä0 and vä0 (F==0)

x2 + y2 � 1

A Hx − uL2 + C Hy − vL2 � 1 ê. 8A → C, u → 0, v → 0<
x2 + y2 � 1

C x2 + C y2 � 1

y2 � 1 − x2

C x2 + C y2 � 1 ê. y2 −> 1 − x2

C x2 + C H1 − x2L � 1

Solve@C x2 + C H1 − x2L � 1 , xD
8<
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